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Seat No.: ________                                                           Enrolment 

No.___________ 

GUJARAT TECHNOLOGICAL UNIVERSITY 
Diploma Engineering - SEMESTER–I (CtoD) • EXAMINATION – SUMMER • 2014 

Subject Code: C310501 Date: 26-06-2014        

Subject Name: Physical Analytical and Inorganic Chemistry 

Time: 02:30 Pm - 04:00 pm Total Marks: 70 
Instructions: 

1. Attempt all questions. 

2. Make suitable assumption wherever necessary. 

3. Each question is of 1 mark. 

4. Use of SIMPLE CALCULATOR is permissible. (Scientific/Higher Version not allowed) 

5. English version is authentic. 

No. Question Text and Option 

1. 

The force in dynes acting along the surface of a liquid at right angle to any line 1 cm in 

length is called…… 

A. Viscosity B. Surface tension 

C. Parachor D. Refractive Index 

2. 

With rise in temperature, the surface tension of a liquid 

A. Increase B. Decrease 

C. Remains the same D. None of the above 

3. 

Viscosity of a liquid is a measure of  

A. Repulsive force between the 

liquid molecules 

B. Frictional resistance 

C. Intermolecular forces between 

the molecules 

D. None of the above 

4. 

With the increasing molecular mass of liquid, the viscosity 

A. Increase B. Decrease 

C. No effect D. None of the above 

5. 

Small droplets are spherical in shape. It is due to 

A. High viscosity B. Their tendency to acquire minimum 

surface area 

C. Their tendency to acquire 

maximum surface area 

D. Less viscosity 

6. 

Reaction rates can change with 

A. Temperature B. The addition of catalyst 

C. Reactant concentration D. All of these 

7. 

For the first order reaction the rate constant k, has the unit 

A. Mol
-1

 B. Time
-1

 

C. Mol time
-1

 D. Time mol l
-1

 

8. 

As temperature increase, the reaction rate….. 

A. Decrease than increase B. Decrease 

C. Increase D. Stay the same 

9. 

A + B -------> product is 

A. Unimolecular B. Trimolecular 

C. Bimolecular D. Tetramolecular 

10. 

A system that can transfer neither matter nor energy to and from its surrounding is 

called 

A. A closed system B. An isolated system 

C. An open system D. A homogeneous system 

11. 

An intensive property does not depend upon 

A. Nature of the substance B. Quantity of matter 

C. External temperature D. Atmospheric pressure 
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12. 

An isobaric process takes place at constant…….. 

A. Temperature B. Pressure 

C. Volume D. Concentration 

13. 

The first law of thermodynamics is 

A. The total energy of an isolated 

system remains constant through 

it may change from one form to 

another 

B. Total energy of a system and 

surrounding remains constant 

C. Whenever energy of one type 

disappear, equivalent amount of 

another type is produced 

D. All of the above 

14. 

For an adiabatic process, according to first law of thermodynamics 

A. ΔE = -w B. ΔE = w 

C. ΔE = q-w D. None of these 

15. 

Which of the following properties is not state function? 

A. Concentration B. Internal energy 

C. Enthalpy D. Entropy 

16. 

The amount of heat required to raise the temperature of one mole of the substance by 

1K is called 

A. Heat capacity B. Molar heat capacity 

C. Molar heat D. All of these 

17. 

The heat capacity at constant pressure is related to heat capacity at constant volume by 

the relation  

A. Cp-Cv = Cv B. Cp- R = Cp 

C. Cp – Cv = R D. R – Cp = Cv 

18. 

The branch of chemistry which deals with the heat change caused by chemical reaction 

is called 

A. Thermodynamics B. Thermal chemistry 

C. Thermochemistry D. None of these 

19. 

The change in enthalpy that takes place when one mole of the compound is formed 

from its elements is called 

A. Heat of formation B. Heat of synthesis 

C. Heat of combustion D. Standard heat of formation 

20. 

For an endothermic reaction 

A. ΔH is –ve B. ΔH is +ve 

C. ΔE is –ve D. ΔH is zero 

21. 

A process which proceeds of its own accord, without any outside assistance is called 

A. Non spontaneous process B. Spontaneous process 

C. Reversible process D. Irreversible process 

22. 

Mixing of two or more gases is a  

A. Non spontaneous process B. Spontaneous process 

C. Reversible process D. Irreversible process 

23. 

Entropy is a measure of _________ of the molecules of the system. 

A. Concentration B. Velocity 

C. Zig-zag motion D. Randomness 

24. 

The cycle of processes which occurs under reversible condition is referred to as  

A. Cyclic process B. Closed process 

C. Carnot cycle D. Reversible process 

25. 

When water is cooled to ice, its entropy 

A. Increase B. Decrease 

C. Remains the same D. Becomes zero 

26. 

Which salt is useful in inorganic qualitative analysis? 

A. NH4Cl B. H2O 

C. HCl D. NaOH 

27. When indicator changes a colour in titration? 
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A. At the end point of reaction B. At half concentration of reaction 

C. At starting point D. None of these 

28. 

……… is used in analysis of calcium and magnesium. 

A. H2S B. EDTA 

C. PABA D. HA 

29. 

In gas chromatography ………. Is used as stationary phase. 

A. Gas B. Liquid 

C. Solid D. All of these 

30. 

Adsorbate is that substance 

A. Which concentrate on the surface B. Where adsorption take place 

C. Which evaporates from the 

surface of metals 

D. None of these 

31. 

The process of adsorption is 

A. Exothermic B. Endothermic 

C. Sometime exothermic, some 

time endothermic 

D. None of the above 

32. 

A colloidal solution consist of 

A. A dispersed phase B. A dispersion medium 

C. A dispersed phase in a dispersion 

medium 

D. A dispersion medium in a dispersed 

phase 

33. 

The scattering of light by the dispersed phase is called  

A. Brownian movement B. Tyndall effect 

C. Adsorption D. Electrophoresis 

34. 

The explanation of Brownian movement was given by  

A. Robert brown B. Robert boyle 

C. Albert Einstein D. Tyndall 

35. 

The movement of sol particles under an applied electric potential is called 

A. Electrophoresis B. Electro osmosis 

C. Electrofiltration D. None of these 

36. 

Milk is an example of  

A. Sol B. Gel 

C. Emulsion D. True solution 

37. 

………Electrode having a known potential.  

A. Working  B. Reference 

C. Inert D. All of these 

38. 

Standard hydrogen electrode immersed in …… HCl solution 

A. 2M B. 5M 

C. 1M D. 0M 

39. 

In calomel electrode, glass tube filled with …….. 

A. KCl solution B. HCl solution 

C. Hg  D. Pt 

40. 

…….. Electrode used in measurement of pH. 

A. Hydrogen B. Calomel 

C. Glass D. All of these 

41. 

pH + pOH = ……… 

A. 7 B. 0 

C. 14 D. 5 

42. 

In potentiometric titration, end point determined by change of ………..  

A. Potential B. pH 

C. Concentration D. None of these 

43. 

The molarity of solution is defined as number of moles of solute present in  

A. One litre of solvent B. One litre of solution 

C. One kilogram of solvent D. One kilogram of solution 

44. 
Normality of a solution is the number of ………of solute per litre of solution. 

A. Moles B. Equivalent 
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C. Formula weight D. Mole fraction 

45. 

The number of moles of a solute per kilogram of the solvent is called 

A. Formality B. Normality 

C. Molarity D. Molality 

46. 

We can make primary standard solution of ……… 

A. NaoH B. Na2CO3 

C. Benzoic aicd D. Succinic acid 

47. 

Ammonia is a ……. 

A. Gas B. Liquid 

C. Solid D. Solution 

48. 

…….. catalyst used in manufacturing of ammonia. 

A. Fe B. Zn 

C. Mg D. Al 

49. 

Sulphuric acid is manufactured by ……… method 

A. Contact B. Habber 

C. Electric D. None of these 

50. 

…… catalyst used in manufacturing of sulphuric acid. 

A. Al2O3 B. V2O5 

C. Fe D. Zn 

51. 

Caustic soda manufactured by electrolysis of ……. 

A. KCl B. NaCl 

C. H2O D. HCl 

52. 

…….. is used for determination of viscosity. 

A. Pensky martin instrument B. Able’s instrument 

C. Stalagnometer D. Ostwald viscometer 

53. 

………is a unit of concentration 

A. Litre/mole B. Mole/litre 

C. Mole
-1

 D. Mole litre 

54. 

Opened cup filled with water is an example of ……….. system. 

A. Open B. Closed 

C. Isolated D. None of these 

55. 

Kinetic energy + potential energy = …………… 

A. Enthalpy B. Entropy 

C. Internal energy D. Gibb’s energy 

56. 

H = ….. + PV 

A. E B. V 

C. P D. Q 

57. 

Cp – Cv = …….. 

A. P B. R 

C. T D. V 

58. 

Entropy never becomes ……… 

A. Positive B. Negative 

C. Zero D. All of these 

59. 

Carnot cycle proceed through ……. Step. 

A. One B. Two 

C. Three D. Four 

60. 

In acid base titration, …….. is filled in the burette. 

A. Acid B. Base 

C. Water D. Indicator 

61. 

Adsorption is classified in ………types. 

A. One B. Two 

C. Three D. Four 

62. 
Which factor increase the solubility of solute? 

A. Temperature B. enthalpy 
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C. Entropy D. None of these 

63. 

The emf of .............. electrode is zero 

A. Hydrogen  B. Calomel 

C. Glass D. All of these 

64. 

Abbe refractometer used for measurement of ............... 

A. Refractive index B. Viscosity 

C. Surface tension D. All of these 

65. 

Heat capacity at constant pressure symbolized as  

A. Cv B. Cp 

C. Hp D. Hv 

66. 

Corrosion of metal is ............... process. 

A. Non spontaneous B. Spontaneous 

C. Exothermic  D. Endothermic 

67. 

Universal indicator is used for measurement of..........  

A. Viscosity B. Surface tension 

C. pH D. Pressure 

68. 

Drop pipette method correlate with 

A. Surface tension B. Viscosity 

C. Concentration  D. All of these 

69. 

Entropy can be explained by  

A. First law of thermodynamics B. Second law of thermodynamics 

C. Third law of thermodynamics D. None of these 

70. 

Range of pH from .......... to........... 

A. 0 to 7 B. 7 to 14 

C. 0 to 14  D. None of these 

 

************** 

ગજુયાતી 
ન.ં પ્રશ્ન તેભજ વલકલ્઩ 

1. 

પ્રલાશીની વ઩ાટી ઩ય કાટખણુે ૧ વે.ભી. ની રીટી ઩ય રાગતા ફ઱ ( Dyne) ને ......... કશ ેછે. 
A.  સ્નનગ્ધતા  B. ઩ષૃ્ઠતાણ 
C. ઩ેયાકોય D.  લક્રીબલનાકં 

2. 

તા઩ભાન લધલાથી પ્રલાશી નુ ં઩ષૃ્ઠતાણ ..... 
A.  લધે B. ઘટે  
C. વભાન યશ ે D.  કોઈ ઩ણ નહશ  

3. 

પ્રલાશીની સ્નનગ્ધતા નુ ંભા઩ ... 
A.  પ્રલાશી અણ ુલચ્ચેનુ ંઅ઩ાક઴ષણ  B. ઘ઴ષણ અલયોધ  
C. અણ ુલચ્ચેનુ ંઆંતય આણ્લીમ ફ઱ D.  કોઈ ઩ણ નહશ  

4. 

પ્રલાશીનો અણબુાય લધે તો, સ્નનગ્ધતા .... 
A.  લધે B. ઘટે  
C. અચ઱ યશ ે D.  કોઈ ઩ણ નહશ 

5. 

પ્રલાશીના નાના ટી઩ા ગો઱ શોમ છે કાયણ કે  
A.  ઉંચી સ્નનગ્ધતા  B. ઓછા ભા ંઓછુ ઩ષૃ્ઠતાણ યાખલાનુ ંલરણ  
C. લધભુા ંલધ ુવ઩ાટીનુ ંક્ષેત્રપ઱ 

યાખલાનુ ંલરણ  
D.  ઓછી સ્નનગ્ધતા  
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6. 

પ્રહક્રમા લેગ ............. ફદરલા થી ફદર ેછે. 
A.  તા઩ભાન  B. ઉદી઩ક ઉભેયલાથી 
C. પ્રક્રીમકની વાદં્રતા  D.  ફધા જ  

7. 

પ્રથભ ક્રભની પ્રહક્રમાનો લગે અચ઱ાકં K નો એકભ  
A.  ભોર  B. વભમ  
C. ભોર વભમ  D.  વભમ ભોર રીટય  

8. 

તા઩ભાન લધલાથી પ્રહક્રમા લેગ .... 
A.  ઘટીને લધે  B. ઘટે  
C. લધે  D.  વભાન યશ ે 

9. 

A + B -------> ની઩જ  
A.  એક આણ્લીમ B. વત્રઆણ્લીમ 
C. દ્વિઆણ્લીમ D.  ચતથુષઆણ્લીમ 

10. 

............ પ્રણારી ઩માષલયણભાથંી ઉર્જષ કે દ્રવ્મ ની આ઩ રે કયતી નથી. 
A.  ફધં  B. વનયારી  
C. ખલુ્રી  D.  વભાગં  

11. 

વલવળષ્ઠ ગણુધભો ....... ઩ય આધાય યાખતા નથી. 
A.  ઩દાથષની પ્રકૃવત  B. દ્રવ્મનો જથ્થો  
C. ફાહ્ય તા઩ભાન  D.  લાતાલયણ નુ ંદફાણ  

12. 

વભદાફી પ્રહક્રમા અચ઱ ........... થામ છે. 
A.  તા઩ભાન ે B. દફાણે  
C. કદે  D.  વાદં્રતા એ   

13. 

થભોડામનેવભક્વ નો પ્રથભ વનમભ  
A.  ફધં પ્રણારીની કુર ઉર્જષ તેભા ં

પેયપાય થલા છતા અચ઱ યશ ેછે. 
B. પ્રણારી અને ઩માષલયણની કુર ઉર્જષ અચ઱ 

શોમ છે. 
C. ઉર્જષ એક નલરૂ઩ ભા ંનાળ ઩ાભે છે 

ત્માયે ફીર્જ નલરૂ઩ભા ંઉત્઩ન્ન થામ 
છે  

D.  ઉ઩યના ફધા જ  

14. 

થભોડામનેવભક્વ નો પ્રથભ વનમભ પ્રભાણે, વભોષ્ભી પ્રહક્રમા ભાટે  
A.  ΔE = -w B. ΔE = w 

C. ΔE = q-w C. None of these 

15. 

નીચેનાભાથંી કમો ગણુધભષ સ્નથત વલધેમ નથી? 
A.  વાદં્રતા  B. આંતહયક ઉર્જષ  
C. એન્થાલ્઩ી  D.  એન્રો઩ી  

16. 

એક ભોર ઩દાથષ નુ ંતા઩ભાન 1 K લધાયલા ભાટે જરૂયી ઉષ્ભા ને ............ કશલેામ  
A.  ઉષ્ભા ક્ષભતા  B. ભોરય ઉષ્ભા ક્ષભતા  
C. ભોરય ઉષ્ભા  D.  ઉ઩યના ફધા જ 

17. 

અચ઱ દફાણે ઉષ્ભા ક્ષભતા અને અચ઱ કદે ઉષ્ભા ક્ષભતા લચ્ચ ેનો વફંધં  
A.  Cp-Cv = Cv B. Cp- R = Cp 
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C. Cp – Cv = R C. R – Cp = Cv 

18. 

યાવામણણક પ્રહક્રમા દયવભમાન થતો ઉષ્ભા ના પેયપાય નો અભ્માવ યવામણળાસ્ત્ર ની ........ 
ળાખાભા ંકયલાભા ંઆલ ેછે.  
A.  ઉષ્ભાગવત ળાસ્ત્ર  B. ઉષ્ભા યવામણળાસ્ત્ર  
C. થભો કેવભનરી  D.  એક ઩ણ નહશ  

19. 

એક ભોર વમંોજન તેના તત્લભાથંી ફને ત્માયે થતા એન્થાલ્઩ી ના પેયપાય ને ...... કશ ેછે. 
A.  વર્જન ઉષ્ભા  B. વશં્રે઴ણ ઉષ્ભા  
C. દશન ઉષ્ભા  D.  પ્રભાણણત વર્જન ઉષ્ભા  

20. 

ઉષ્ભાળો઴ક પ્રહક્રમા ભાટે  
A.  ΔH is –ve B. ΔH is +ve 

C. ΔE is –ve C. ΔH is zero 

21. 

એલી પ્રહક્રમા કે જે ઩ોતાની યીતે થામ છે જેને ફાહ્ય ફ઱ ની જરૂય નથી તેલી પ્રહક્રમાને ..... 
કશલેામ છે. 
A.  આ઩ભે઱ે ન થતી પ્રહક્રમા  B. આ઩ભે઱ે થતી પ્રહક્રમા  
C. પ્રવતલતી પ્રહક્રમા  D.  અપ્રવતલતી પ્રહક્રમા  

22. 

ફે કયતા  લધ ુલાય ુને બેગા કયલા તે  
A.  આ઩ભે઱ે ન થતી પ્રહક્રમા  B. આ઩ભે઱ે થતી પ્રહક્રમા  
C. પ્રવતલતી પ્રહક્રમા  D.  અપ્રવતલતી પ્રહક્રમા  

23. 

એન્રો઩ી એ પ્રણારીના અણઓુની ............. નુ ંભા઩દંડ છે. 
A.  વાદં્રતા  B. લેગ  
C. ઝીગ-ઝેગ ગવત  D.  અવ્મલનથા 

24. 

એલી ચક્રીમ પ્રહક્રમા કે જે પ્રવતલતી ઩હયસ્નથવતભા ંથામ છે તેને ............. કશ ેછે. 
A.  ચક્રીમ પ્રહક્રમા  B. ફધં પ્રહક્રમા  
C. કનોટ ચક્ર  D.  અપ્રવતલતી પ્રહક્રમા  

25. 

઩ાણી ઠંડુ ઩ડી ફયપ ફનતા તેની એન્રો઩ી ...... 
A.  લધે  B. ઘટે  
C. વભાન યશ ે D.  શનૂ્મ ફને  

26. 

કમો ક્ષાય અકાફષવનક ઩થૃ્થકયણ ભા ંલ઩યામ છે? 
A.  NH4Cl B. H2O 

C. HCl C. NaOH 

27. 

અનુભંા઩નભા ંસચૂક ક્યાયે યંગ દળાષલે? 
A.  પ્રહક્રમાના અંવતભ ણફિંદુ એ  B. પ્રહક્રમા ની વાદં્રતા અડધી થામ ત્માયે  
C. ળરૂઆત ના તબ્ફકે  D.  એક ઩ણ નહશ  

28. 

કેલ્લ્ળમભ અને ભેગ્નેળીમભ ના ઩થૃ્થકયણ ભા ં................ લ઩યામ છે. 
A.  H2S B. EDTA 

C. PABA C. HA 

29. 

ગેવ ક્રોભેટોગ્રાપી ભા ં............. નટેળનયી પેઝ તયીકે લ઩યામ છે. 
A.  લાય ુ B. પ્રલાશી  
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C. ઘન  D.  ઉ઩યના ફધા જ 

30. 

અધીળોવ઴ત ઩દાથષ 
A.  વ઩ાટી ઩ય વાહંદ્રત થામ છે  B. જમા ંઅવધળો઴ણ થામ છે  
C. કે જે ધાતનુી વ઩ાટી ઩યથી 

ફાષ્઩ીબલન ઩ાભે છે  
D.  એક ઩ણ નહશ  

31. 

અવધળો઴ણ ની પ્રહક્રમા  
A.  ઉષ્ભાક્ષે઩ક છે  B. ઉષ્ભાળો઴ક છે  
C. ક્યાયેક ઉષ્ભાક્ષે઩ક અને ક્યાયેક 

ઉષ્ભાળો઴ક  
D.  એક ઩ણ નહશ  

32. 

કરીર દ્રાલણ ધયાલે છે  
A.  વલક્ષેવ઩ત કરા  B. વલક્ષે઩ન ભાધ્મભ  
C. વલક્ષે઩ન ભાધ્મભભા ંવલક્ષેવ઩ત કરા D.  એક ઩ણ નહશ  

33. 

વલક્ષેવ઩ત કરા િાયા થતા પ્રકાળના પ્રકીણષન ને ................... કશ ેછે. 
A.  બ્રાઉવનમન ગવત  B. ટીંડર અવય  
C. અવધળો઴ણ  D.  વલદ્યતુ ડામારીવીવ  

34. 

બ્રાઉવનમન ગવત ની વભજ ............ િાયા અ઩ાઈ શતી. 
A.  યોફટષ બ્રાઉન  B. યોફટષ ફોઈર  
C. આલ્ફટષ આઇન્નટાઇન  D.  ટીંડર 

35. 

વલદ્યતુ  ઩ોટેસ્ન્ળમર ની શાજયીભા ંથતી વોર કણોની ગવત ને ................ કશ ેછે. 
A.  વલદ્યતુ ડામારીવીવ  B. ઇરેક્રો ઓનભોવીવ 
C. વલદ્યતુીમ ગા઱ણ  D.  એક ઩ણ નહશ  

36. 

દૂધ ............. નુ ંઉદાશયણ છે. 
A.  વોર  B. જેર  
C. ઈભલ્ઝન  D.  વાચુ ંદ્રાલણ  

37. 

........... ઇરેક્રોડ  ર્જણીતો ઩ોટેસ્ન્ળમર ધયાલે છે. 
A.  લહકિંગ  B. વદંબષ  
C. વનષ્ક્ષ્ક્રમ  D.  ઉ઩યના ફધા જ  

38. 

પ્રભાણણત શાઈડ્રોજન ધ્રલુ ........... HCl ના દ્રાલણ ભા ંડફૂાડલાભા ંઆલે છે. 
A.  2M B. 5M 

C. 1M C. 0M 

39. 

કેરોભર ધ્રલુભા ંકાચની ન઱ીભા ં.......... બયેર શોમ છે. 
A.  KCl નુ ંદ્રાલણ  B. HCl નુ ંદ્રાલણ 
C. Hg D.  Pt 

40. 

…………… ધ્રલુ pH ના ંભા઩ન ભાટે લ઩યામ છે. 
A.  શાઈડ્રોજન  B. કેરોભર  
C. ગ્રાવ  D.  ઉ઩યના ફધા જ  

41. 

pH + pOH = ………. 
A.  7 B. 0 
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C. 14 D.  5 

42. 

઩ોટેસ્ન્ળમોભેહરક અનુભંા઩ંન ભા ં........... ભા ંપેયપાય થલાથી અંવતભ ણફિંદુ નક્કી થામ છે. 
A.  ઩ોટેસ્ન્ળમર  B. pH  
C. વાદં્રતા  D.  એક ઩ણ નહશ  

43. 

દ્રાલણની ભોરાયીટી એટરે ............ ભા ંદ્રાવ્મ થમેરા દ્રાવ્મ ના ંભોર ની વખં્મા. 
A.  એક રીટય દ્રાલક  B. એક રીટય દ્રાલણ  
C. એક હકરોગ્રાભ દ્રાલક  D.  એક હકરોગ્રાભ દ્રાલણ 

44. 

દ્રાલણ ની નોભાષરીટી એટર ેએક રીટય દ્રાલણભા ંદ્રાવ્મ થમેરા ............ ની વખં્મા. 
A.  ભોર  B. વપ્રભાણતા  
C. સતુ્રબાય  D.  ભોર અંળ  

45. 

એક હકરોગ્રાભ  દ્રાલક ભા ંદ્રાવ્મ થમેરા ભોર ની વખં્મા એટરે ....... 
A.  પોભાષરીટી  B. નોભાષરીટી  
C. ભોરાયીટી  D.  ભોરારીટી  

46. 

............ નુ ંપ્રાથવભક પ્રભાણણત દ્રાલણ ફનાલી ળકામ. 
A.  NaoH B. Na2CO3 

C. Benzoic aicd C. Succinic acid 

47. 

એભોનીમા ....................... છે  
A.  લાય ુ B. પ્રલાશી  
C. ઘન  D.  દ્રાલણ  

48. 

એભોવનમાની ફનાલટભા ં............... ઉદી઩ક લ઩યામ છે. 
A.  Fe B. Zn 
C. Mg  D.  Al 

49. 

વલ્પયહુયક એવીડ ની ફનાલટ ........... ઩દ્ધવતથી થામ છે. 
A.  વ઩ંકષ  B. શફેય  
C. વલદ્યતુીમ  D.  એક ઩ણ નહશ  

50. 

વલ્પયહુયક એવીડ ની ફનાલટભા ં............ ઉદી઩ક લ઩યામ છે. 
A.  Al2O3 B. V2O5 

C. Fe C. Zn 

51. 

કોષ્ક્નટક વોડાની ફનાલટ ...................... ના ંવલદ્યતુ વલબાજનથી થામ છે. 
A.  Al2O3 B. V2O5 

C. Fe C. Zn 

52. 

સ્નનગ્ધતા ભા઩લા ભાટે ................... વાધન લ઩યામ છે. 
A.  ઩ેન્નકી ભાટીન  B. એબ્લ્વ  
C. નટેરેગ્નો ભીટય  D.  ઓનલાલ્ડ વલનકોભીટય  

53. 

વાદં્રતા નો એકભ ............... છે.  
A.  Litre/mole B. Mole/litre 

C. Mole
-1

 C. Mole litre 

54. ખલુ્રો ઩ાણી બયેરો ગ્રાવ ..................... પ્રણારીનુ ંઉદાશયણ છે.  
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A.  ખલુ્રી  B. ફધં  
C. વનયારી  D.  એક ઩ણ નહશ  

55. 

ગવત ઉર્જષ + સ્નતથી ઉર્જષ = .............  
A.  એન્થાલ્઩ી  B. એન્રો઩ી  
C. આંતહયક ઉર્જષ  D.  ણગબ્વ ઉર્જષ  

56. 

H = ……….. + PV 
A.  E B. V 
C. P D.  Q 

57. 

Cp – Cv = …………. 
A.  P B. R 
C. T D.  V 

58. 

એન્રો઩ી ક્યાયેમ ..............ન શોમ.  
A.  ધન  B. ઋણ  
C. શનૂ્મ  D.  ઉ઩યના ફધા જ  

59. 

કનોટ ચક્રભા ં............તફક્કા શોમ છે. 
A.  એક  B. ફે  
C. ત્રણ  D.  ચાય  

60. 

એવીડ ફેઇઝ અનુભંા઩ંન ભા,ં બ્યુયેંટભા ં............ બયલાભા ંઆલે છે. 
A.  એવીડ  B. ફેઇઝ  
C. સચુક  D.  ઩ાણી  

61. 

અવધળો઴ણ ............. પ્રકાયે લગીકૃત કયી ળકામ. 
A.  એક  B. ફે  
C. ત્રણ  D.  ચાય  

62. 

દ્રાવ્મ  ની દ્રાવ્મતા ................ ઩હયફ઱ થી લધ ેછે. 
A.  તા઩ભાન  B. એન્થાલ્઩ી 
C. એન્રો઩ી  D.  એક ઩ણ નહશ  

63. 

.............. નો ધ્રલુ નો emf શનૂ્મ શોમ છે.  
A.  શાઇડ્રોજન  B. કેરોભર  
C. ગ્રાવ  D.  ફધા જ  

64. 

એફે યીફે્રકટો ભીટય ................ ના ંભા઩ન ભાટે લ઩યામ છે. 
A.  લક્રીબલનાકં B. સ્નનગ્ધતા  
C. ઩ષૃ્ઠતાણ  D.  ઉ઩યના ફધા જ  

65. 

અચ઱ દફાણે ઉષ્ભાક્ષભતા ને ............. િાયા દળાષલામ છે. 
A.  Cv B. Cp 
C. Hp D.  Hv 

66. 

ધાતનુી કટાલાની પ્રહક્રમા ................... છે. 
A.  આ઩ભે઱ે ન થતી  B. આ઩ભે઱ે થતી  
C. ઉષ્ભાક્ષે઩ક  D.  ઉષ્ભાળો઴ક  
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67. 

વાલષવત્રક સચુક ............ ના ભા઩ન ભાટે લ઩યામ છે. 
A.  સ્નનગ્ધતા  B. ઩ષૃ્ઠતાણ  
C. pH D.  દફાણ  

68. 

ડ્રો઩ વ઩઩ેટ ઩દ્ધવત ................... વાથે વકં઱ામેર છે.  
A.  ઩ષૃ્ઠતાણ  B. સ્નનગ્ધતા  
C. વાદં્રતા  D.  ઉ઩યના ફધા જ  

69. 

એન્રો઩ી .................. િાયા વભર્જલામ છે. 
A.  થભોડામનેવભક્વ ના પ્રથભ વનમભ  B. થભોડામનેવભક્વ ના ફીજો વનમભ  
C. થભોડામનેવભક્વ ના ત્રીજો  વનમભ  D.  એક ઩ણ નહશ  

70. 

pH ની ભમાષદા .......... થી ............ સધુીની છે. 
A.  ૦ થી ૭  B. ૭ થી ૧૪  
C. ૦ થી ૧૪  D.  એક ઩ણ નહશ . 

 

************** 


